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09132200 |PLughu ntigniyjwp Q2 fjhup 400 4000 1600,0
Chnudkup ; 1600,0
QYinnpuyp b yunjuunwiynipbp ]
wpuhfuwiht (wpuhluihth hhgponpphy),

33691193 |kujhiidphli 40uq/u)+10uUlq/uy 1,8y 42 |huwn 192 600 115,2
wpuhfught (wpnhuihth hhgpnpiophn), T
tyhubdpht (byhtutidphtuh phunwpupun)

33691193]40uUq/u+10uUlg/ul) 1,74y Q2 [hwwn 240 600 144,0
thinluht (jhanluyhth hhnpnpinphy),

Fuhbppht (Fypubphth hhnpnpynphn)
20uq/uU1+0,015Uqg/),
33691192|1,7Uy Q2 lhun 600 0,0
33661116|1hnnljujhli gnnuighp 10 % 38q 42 |huwn 12 0,0
33691192 |Lhnniuyhth hhnpnpinphn 2%-204; &2 |hwwn 400 0,0
33691192 |Lhnniwjhtuh hhnpnpinphy/tyhttibpht 200 | G2 |hwwn 50 0,0
Uty hquljuht ((kyhywluhth hhr}pnplnphq)
33691176|30uUq/uj 1,7 42 Jhuwn 600 0,0
Uty hquljwjht ((kyhywlwjhth hhnpnpinphn) )
33691176|30uUq/u} 1,8U) G2 [hwuwn 300 600 180,0
Uy hyuljuyht (g hgulughtth hhnpnpy np]lr})
33691176 |tughuibphli 20uq/u+10uUlg/ul) 1,81} 42 |hunn 600 0,0
33691112 |Ukinpnuhnugny dbjli 20q 42 |hwwn 6 0,0
33621642 |njnnpkpwl thnoh a2 |lg 0,03 0,0
33631240|pinphtipuhnht qyniyntiwwn 0,05% G2 [hwuwn 60 0,/
33631241 |pinphtpuhnhGh uyhpuwht (nuénye 0,5% @2 [{hwp 50 0,0
33631250 |[kpwln| pdoywlywl 96% 42 |jhwp 400 0,0
33631230 |wnyhnnl jnn 5% 30 42 |huwn 20 0,0
33631230 |wynyhnnG jnn 10% 1 2 |hwwn 150 0,0

33621240|ghwlinnpuijudhti 500Ulq 1d} 42 |hwwn 2000 0,0

33611120 |dundnunhnht 20ug 42 |hwwn 18000 0,0
33611100 |odtwpwqn| 204qg G2 |hwuwn 6000 o,u




33661159 bEuhikbphtth hhnpnpinphn  2.5%-104; 42 |hwwn 20 0,0
33661154 [Stunpwlwih(G1% (-p 104] G2 |hwuwn 20 0,0
33691176|8hnykliinnjuin 1% 5up 42 [hwn 20 0,0
33651134 [8hwpndjopuwighlb 0,3% 10 U} %2 |huwn 40 0,0
33651139|Unpuhdinfjuughti 0,5% 5 G2 [hun 10 0,0
33691176 |Ywppwjunihtt 0,01% Q2 |hwuwn 10 0,0
33691153 | Puphmuh uniphun thnoh 100q 42 |huwn 200 0,0
33691141 |BpYwohl pdojuywl 42 |hwuwn 2140 4000 8560,0
33661120 |Unpdhup hhnpnpnphn1%-11; a4z [hwen 450 1000 450,0
Unpbhuh Rhnpnpinphn, wwwwJEphGth hhnpnpinphn, 7

33661120 Unnkht, tnulwuht, plipwph 2%-1 4, G2 Jhwwn 500 200 100
33661114 dEuwnwh 0.005% 24 QL hwwn 450 3200 1440.0
33671114  |Udpundhih 2,4%-50] G2 |hwwn 42 15000 630.0

33621740 |Udinnhujht (wujnphujhup piqhjun) 10dq G2 |hwwn 20 6000 120,
33651125 Uqhppnuhghti 500uq 2 |hwwn 700 300 210,0
33611240 Ulunpjugud wdniju 2504q Q. huuun 5 2000 1C 0
33631270 Unuwiwbnu Jubus 10U} G2 hwiwn 150 30 4.5
33611190 Udwy A2 |hwuwn 12 2000 24,';
33621160  |Udhunjuuypnuwppnt 5%- 2500 S5 [hwn 800 600 4800
33661142 |Udhinphynpiht 25uq G2 |hwwn 25 1200 30,0
33691156 Ulnupwnph uyhpun 30U 2 |hwwn 130 60 7,8-
33611350 |Uulnpphlwppnt 5%-50; 92 |hwn 52 5000 260,0]
33611350 Uulnpphtwppnt 5%-2u) Q2 |hwwn 30 5000 150,1;
33611130 Uwnpnyhtp unyduwnh (nionye 0,1%-14d| G2 [hun 65 2500 162,5
33661121 Ugbwnhpuwihghjuppnt 5000uq G2 [hwwn 6 5000 30,0
33621710 Uwnklunn) 50uq 9z [ 7 21000 a7
33631370 Uwnpuwlniphnud plighpum 10dg/dy- 2,54 G2 [hwwn 1435 600 861,0
33621390 Udhnnupnt 150dq 34 G2 [hwwn 750 900 675,0
33651111 Udopuhghihtt 500uq Gl [hwwn 55 3000 1680
33611190 Phuwlnnhp dndhyy 10uq 42 [hwwn 55 1000 55,0
33621720 Phunupnin) Suq Q2 |hwn 30 3000 90,0
33621440 REunuqn1%-14; Q2 |hwwn 30 2500 75.0
33671126 | Fpnuhbpuh 8ug a2 |hun 4 10000 1C.0]
33661115 Pnuyhjuluyht 4dy Q2 [hwwn 1200 800 960,0
33651126 QEuwnwdhght 40ug/il] 24 &2 |hwwn 75 3000 225,0
33691138 |%yntynq 5%-30004} 42 fhwn 1200 150 180,0
33691138 Qniljng 40%-5u)| G2 |hwwn 40 3000 120,0
33621360 | thgtinhi tirGhuinpwwn (Ghuinpngihgtinht) 5uq/1,54] G2 |hwwn 700 3500 24500
33621380 “hgopuhl 0,25 dq G2 [hwwn 7 2280 16,0
33671130 |WhPLOhhapwdnpG 1%-1d| 42 |hwwn 30 30000 900,U
33611170 Apnunwytipht 404q Q2 [hwwn 7 2400 16.8
33661136 |hwqbiywd 10dg/24) a2 |hwn 110 1800 198,0
33661153 QYhpuwdtinwgnt 4ug/uy-1u) G2 |hwn 50 6000 300.0
33661153 |Hhpuwdbiwgnt 50q/1-10] a2 [hwwn 170 3000 510.0
33661153 Tpuwdinwgnt wlliwuphy 10U G2 |hwwn 1348 30 40,4
33621250 | Hapunpwil 40 5004 42 |hwn 2400 150 360,0]
33621250 Yhpunpwl 70 5004 Q2 [hwwn 2200 60 132,0
33631310 Ahyindpbluwy 75uqg/3ud) Q2 hwin 120 10000 1200,0
33621400 Anwwih 400g/d] 51 Q2 [hwwn 1100 1000 1100,0

33611170 Fpnunwbphl 40ug/id)p 24, G2 |hwwn 57 3500 199.
33651127 Topuhghljiht 100uUq a2 |hwwn 14 1000 M“",.
Ephippndhgnyw Ephwliwn, $Elnpupphunu, 1)
33621300 wnuytnuyhtt whwbntjuh jniy 254 a2 |hwwn 200 120 24.‘1
33691202 Einundghpun 250ug/u) 2u) Q2 [hwwn 180 7000 1260,0
33621760 Euwjwuyph 10Uq G2 [hwwn 8 20000 160,0
33621120 FGopuwuwupht tuwnphnud 6000UU 0.64 Q2 |hwwn 3000 150 450.0
33691176 |kwwnhdhpunnhy 0,75ug/)- 100U} 92 |hwwn 65000 50 32500
33621290 Eyhubdpht (wnpklwht) 0,12%- 1} G2 |hwwn 150 600 90,0|
33611370 Ehwuhuh pinphn 50UqAl] 1) G2 |hwwn 20 2500 50,0
33661113 @hnykunw] bunnphnud 0,5q 42 |hwuwn 2300 520 1196,0




33611320 bluniht jup&wnl wgntg. 100U UATL 104 a2 |hwwn 4500 15 57 - V
33611310 buuniht Epjupwnl wgnbg. 100U U7 104U Q2 hwun 4501 5 ;,J!
33661110 |Pqndynipwit 2500 ‘ 4 [hwan 30000 40 1200.,0|
33621370 |Phqnunpphinh nhtihwpun 20uq %2 [hwn 50 5000 250,0]
33671131 |LnpwnwnhliiOug 92 [hwn 30 1500 450
33691192 |Lhnnluyhth hhnpnpinphn 2%-24) 42 [hwwn 35 4000 14_0.7::}
33631283 Lhqhltnyphy 10uq Q2 |hwwn 40 2400 96,0 |
33611200 |Lnygbpwipn 2q 42 [hwwn 20 1000 20,0
33691134 [Ywhnwih pinphn 4%-2004( &2 |hwn 560 300 168,0|
33621600 |“wpytinhiny 25dq 42 fhwn 50 2800 140,0
33661128 |Ywppwiwgbiyhl 200dq 32 |hwwn 20 4000 30,0
33621140 Ynuy hnngpl) 75uUq Q2 |hwwn 280 4200 1176.0
33661111 Yhunwht 500uq/10u; 2 [hwwn 2200 50 110,0
33611420 |Ywighnuip gyniyntiunn10%-504| A2 |hwwn 85 3000 255,0
33651168 Yuwlwiuhghti 1q G2 [hwwn 250 120 30,0
33621510 Yuwynnuwphy 25dq G2 |hwwn 6 30000 180.01
33651191 Zwlwpnwnnihtwhtp shanty why U &2 |hwwn 4500 3 13,5
33651191 Zwlwpnunnihtwhty ohantl) mhuy £ 42 |hwwn 5500 3 1—6“
33651191 Zwluwpnnnijhbwhty ohdni whuy & Q2 |hwwn 5500 3 165
33661117 Yuwnywluninh hwnily 0,02q Q2 |hwwn 3 3000 9.0
33661100 | <winpuwil 2504 a2 [huwn 25000 160 4000.0|
33651212 [Lwjwihwjunwgdwl wawwnnpup 0.5d] G2 |hwin 700 400 280.0
33621100 [<bwwnhG 5000ay/d; 50| 42 [hwn 750 12000 9000.0
33691176 |2hnpopuhbphy oupu 6%-5004| a2 |hwwn 3000 210 630.,0
33691176 |2hnpopuhbphy oupw 10%-5000 a2 [hwwn 4500 50 2250
Zwlwhbbluhs (whnhutiyunhly) b wunwhwbhs T
33621641 | sponglbp/Uwinwisht UR 50% 1000 1 a2 |hwun 220 80 17,6
zwywlbfuhs (wlwnhubwunhy) b wiunwhwGhy . _ 1050
33621641 thonglbp/Zwlwpwlnbphw) ofun 1) 4L |hwn 3500 30 3
2wlwltupys (wOwhubiwwnhy) b wiunwhwhy . 1200
33621641 dhonglbin/YEuwwnnipugyud Epwting 1) G2 |hwwn 3000 40 '
2wlwbbiuhg (wOnmhubuunhly) b wunwhwbhy 180.0
33621641 dhongltin/Rnph jnidynn hwpkp 2 [hwn 20 9000 4
Uwqubqhnud wuywpuwnh nbknpuhhnpun, Gujhnod Lo
33691218 wuywpnwwnh hidhhhnpwn 1004] 42 |hwwn 380 2000 76C.0
33691218 Uwqukqhnudh wugwpuwn, juihnudh wugupunwn Q2 |hwwn 40 2500 100,0
33621610 |UwGhun 10%-4004; 9 hun 850 150 127.5)
33621270 , |Uklpnih nsnyp dbuph) hqnywibpwppynud G2 |hwwn 11 200 ;_;]
33621190 Ukbwnhntp twnphnud phunydhn 1%-14d 42 |hwwn 120 1500 180.0
33611160 Ubwnnlnupudhn Sq/d) 240; G2 [hwwn 70 5500 385.@
33691112 Ubwnpnlihnugnp 1004 G2 [hwwn 300 10500 3150,0{
33691112 Ubkwnpnuhnugnp 500uq G2 [hwwn 50 2000 100, |
33661127 Utwnwdhqn) bwwnphnud 50%-24) Q2 hwin 40 35000 1400(}}
Utwnwdhqnih Gwinphnodwljwt dhlinhhnpn, *
yhundbunth hhnpnpinphn, $Etwhybphpinudh ppodpn 240,01
33661125 [S4] 42 hwwn 160 1500 o
33611260 Uliindnpuht 500uq G2 [hwwn 30 600 18,0
33691154 |3nhbipuny 1004} 42 |hwn 12450 800 9960,0
33691154  |3nhkpuny 500 G2 |[hwun 9000 200 18000
33691170 3nnhpuwting 1004] Q2 |hwwn 22000 200 4400,0
33691223 ‘Lunpouuphth jujghnudwljub wn 0,34} -2 [hwwn 1970 300 591.0
33691223 Lwnpnuwphth Jughnudwljwy wn 0,61 &2 lhwwn 3360 500 1680.0
33691135 Lwwphnulh phlwppntun 8.4 % 204 %2 [hwn 1200 500 600.0]
33691136 ‘Lwwnphnwdh pinphn 0,9% 5004, G2 |hwwn 280 30000 8400,0
33691136 ‘Lwwnphnwth pinphry 0,9% 2504) Q7 Ik 390 12000 3840,0/
33691136 ‘Lwnphnwh pinphn 10% 504 G2 [hwwn 530 240 127};
Cwwinphnudh pinphn, Guighnudh praphn, fuwghnudh A
33691120 |pinphny 5000 92 |huwn 280 12000 S Y
33691227 twwnphnuh wgbnuwn , bwnphnodh ppinphn, Yughnodh 2150
pnphn, Yughnudh pinphn  dwqubqhnedp pinphn 5004 G2 [hwwn 18000 120 |
33691133 |Lkpwpluwl gnip 3000u; G2 |hwwn 1200 1500 1800,0




33691144 |Lwnphnuth phnunipuin 30%-5u; *2 |hwn 50 4000 200,0
33621330 |Lhhtipwuhy 25%-20| a2 |hwwn 130 1000 130.0
33661147  |Ubnuuinhquht 0,5% -14] 2 |hwn 60 1000 60.0
33651149 |UhuinwwnhG 0,5 42 [hwn 14 2000 30,0
33611150 | NwllyptwinhG 42 |hwwn 45 2000 90,0
33661122 Nuwnuwgbinwiing 5004g 42 hwwn 6 2500 18,0
33661122 | Mwipuwgitwdng 1004 2 [hun 2500 100 250.0
33631350 Nhybynipnlihnudh ppndhn 4dq /7 24 Q2 |hwwn 900 1500 1350 '”_‘i
33661112 |pnwndn| 10dq/6(-200) G2 [hwwn 1300 1000 1300,0
33691186 | Mhpuwighinuwih 20%-50] a2 [hwn 55 20000 1100.0
33611390 Mhphnnpuhl h/p 5%-14d; i G2 |hwwn 20 15000 30(:_‘;
33661170 Mnnyuihl (wpnywihGh hhnpnpinphn) 0,5% 2501 42 [hwn 630 100 63,0}
33611100 TNwlwnnypuqng 40Uq G2 [hwwn 2000 30 60,0
33621540 | Mwwwikphlih hhnpnpinphny 2%-2d; 42 |hwin 40 4000 160.0/
33691176 | Mblwnopuhbhihts 400uq a2 [hwwn 120 1000 120,0]
33621620 UwhphGnwlunnb 25 g %2 |hwn 40 1200 480!
33631360 | UnipuwdtipnGhnid 2% 54 oz |hakn 350 2000 700.0|
33691199 |Uhihuwphti 22,50 42 |huwn 20 2400 48.0|
33691210 Uwnpndutinhti 0,025%- 110} Q2 hwwn 50 1500 ‘,5.‘:3
33621620 |Uwhpnljwljnnt 50uq 42 |hwn 85 5000 5100
33691176  |Ulnpinipull 2504 42 [hun 80000 15 1200.0!
33671115 Unybnudbnpuppnt, wpnljwiht 2u; %2 [hwwn 120 200 24?(]'}
33621730 Yhpuiywidhy 0,25 % 240 G2 [hwn 580 400 2200
33691176 |dwphwpht 2,50 92  |huwin 20 2000 4@])}
33631380 Snjybtiphqnuh hhnpnpinphn150uq Q2 |hwwn 120 900 108.0|
33651141 8tdnipopuhul 750ug G2 [hwn 1450 800 116C, 7
33651116 8hdwqniht 1q a2 |hwwn 250 9000 2250 ‘}
33651123 |8bpnunwpupd 1q 4 [hwen 400 3000 1200,0]
33651118 |Skdpuphwpunt 1q 42 |hwn 210 18000 3780.0|
33691222 [8huwphqht 25 Ug 42 [hun 6 13000 /8.0
33651134 |8hwpndinpuwghli 5001 2 |hwwn 40 6000 240,0|
33691236 |Rinpnyhpwidhbh hhppnpinphn 201q 14} Q2 [hwwn 300 500 150,0]
33691176 Lwithniph uyhpun 100y S 296 60 i ’)I
Lnpuudkuhlny,
$3631200 ﬂépl;um?mglﬁ plump 40q a2 |hun 500 100 50")!
33651192 |Odh hwlwpnyu a2 |hwwn 130000 1 130,0[
33621230 Snpwppnt 5uq 2 |hwn 30 720 21.6|
33661159 |dLup kbphuh hhnypnpinphy 14 42 |hwwn 130 100 13,0|
33611120  [Dunininhnht 40uq 42 |hwwn 900 100 90,0
33691176 Snipughhtih puntly 25q %2 |hwin 250 150 37'(\’]
33691176 |bnipughphtp thnph 0,2 %2 [hwen 12 2000 24,0
33621590 bnipnubidhn 1% 24) G2 |hwwn 300 30000 9000,0
33651150  |Byniyntiwgn] 150uq G2 Jhwwn 90 1000 90.0
s 120809 |
Pdywlwl uwppwynpnidlbip L Wwpwqwbbp '
Bphuwdwyhtt nhwjhgh hwdwp twpowubuws
s utzlilndmhﬂ;nr\ﬂlnhlﬁl}in /UmuIJ[J hnILIJJDUJIhU 1(11h<5/ G2 [hwwn 16000 L ,,”,'
33181120  |Yhwyhgh quahsubp/ thwjhquuunnp G2 [hwun 5300 0]
33181120 |thwihqh qubstikp/Yhwihqunnp G2 |[hwwn 5200 0]
33181120 |hwijhgh quapstkip/Hhuhqunnp Q2 [hwwn 5500 0
33141149 |Shunnywiht wubinubip 166 quipytipwlwht Q2 [hwwn 300 15000 450_@,_!}'?
33141149 [dhunnywiht wubinubp 166 bpwljwhu Q2 [hwwn 300 15000 4500,0
33141149 |Shunnywiht wubnutip 176 quipytipwlwiht A2 |hwwn 300 1000 300,0
33141149 | Dhunnywiht wubinubip 176 tipwluwht Q2 |hwwn 300 1000 300,0
Shunnywiht wubinutip 186G 600
33141149 awnbbtinwbwiht/Enw bt 2 |qnug 1000 600,0
Gphhwdutinh gnpdniitingajwt htivn Guwwsd
uwwndwl wnwplwtitin/<hduwiht junwlynieh |
33181160 | o ' Y42 [hwwn 16000 U,
33181160 |Ephlwdwhli htinnly /prdwiht lunwlnys / G2 |hwn 3200 0,0




13000

33181160 Gphlywdwiht hinnwy /Yhinpnuwppyh funwtynys/ @z lhun 230 2990.0|
Thwihgh quihsutin /pwluntiphwi b whpngl 70000 :
33181120 |4hunn/ Q2 |hwin 15 1050,0]
33111310 wlghnwwunhywih Gneptip/nbnwuwun untitn/ Q2 |hunn 124000 250 31000,0!
33141136 |Ywptnp vhwnuwbgpwtp Q2 huin 7000 30 210,0
33141136|Ywptnp/phplinthly S hun 30 3500 105,0
33141136|Ywpbwnp/ubpkpuljuht 226 Q2 hwwn 65 4500 292,5]
33141136|Ywptwnp/ukptpuljuht 206G Q2 hun 65 4500 292,5
33141136 |Twpknp/upnussiuh Q.2 hunn 70 600 42,0
33141136|ywptintpltn/Snqupnh whuh 1EY4 hwwn 15000 30 450,0
33141211 |Ununppkin Taz huwitn 20000 10 200,0
33141211|8wilg Annyuwdph a2 hwin 12000 150 1800.0
33141145|UGqqujugliub wubn / NnGninbnuihG25G -2, hwwn 500 1000 500,01
wpjwb &G0wh swhdwl uwnp i B
33121180|/ninlnduinp/uintiinnuljnuny l|az unnih 3500 30 105,0]
wdinndwwn pudwtiunnphsh dwjnwlu GEp-10- [ f
33111230{2000 i e hwtn 10 32000 320,0|
wlnndunn pudwbunnphyh dwynwlw G6p-200- - ‘
3311124010000y Q2 hwin 10 8000 80,0/
33111230 | unlnnnuun pudwbuwnphsh dwjpwlyw|0Gp-5-50uly; (9.2 hwin 10 5000 50.01
33141115| Rdywlwl pwdipwly ny hwlwbbugws 100g laz hwn 200 1500 300,0
33141114 Rd4uwlwl pwbahd (Swngw) Q2 gt 120 25000 3000,0
33191650|qfuwply pdojuljwt vhwijug Q.2 hun 20 4000 80,0
33141178| Nanbph GEpwpydwb hwdwlwpgtp Q.2 huwwn 60 25000 1500.,01
33141129 |nhdwly/dhwbdwag pdywlwb nhdwly/ S¥4 hwun 10 3000 30,0
33141183| 2nlntn / Bunnunpuutiuyg funnnul dwbdtnuny - (g2 hwin 500 200 100,0|
33141183|2n0ntp/npufutinunnuhly thnnh hyp vwbdbunny Q2 hwwn 17000 5 _E;B()l
33141183| 2nlntn / Utnwiinpuh qnln Q2 huwtn 120 300 36,0
LEGupufhpupnidwljul uwppbip/ Guapnn wnbin ﬂ
33161100{24GH v4 hwiwn 31000 20 620,()4
33141100 FUQ-h Ekljnpnn a2 huitn 60 10000 600,0!
33141136|Gumntinp Uhquiht Gplgnin a2 hwtn 250 1200 300,01
33141136 |Ywwnbtunnp thquyht kpwdniy 92 hwwn 320 150 48;:
33141111|4wsnil uwbnwlh 57500 Yunphg 192 hwn 350 4000 140(},(;1
33141156|2trGnglbn pd,4uwib ng uintiphy 9z [huwn 23 80000 1840,0]
33141173 dbgh wnnwpwybtp /Uhgpnnibhy Q.2 hwwn 150 2000 300,0;
33141142|Ubpwnyhstn 1,0 Q.2 hwwn 20 30000 600,0!
33141142|Ltpwnyhsbtbn 2,0 2. huwin 20 80000 1600,0
33141142|Ubpwnyhstbn 5,0 laz hwn 20 120000 2400,0,
33141142|UGpwpyhstp 10,0 faz hwn 35 100000 Sb(JU.U;
33141142|Ubpunihsbn 50,0 a2, hwitn 120 200 240,
33141142|Ukpuiplhy/Tntkp Lnp/20u; Q.. hwn 90 1000 90,0
33141138 Ywiyniyu/ppupplustuhb |92 hwiwn 300 1500 450,0
33141157 Gounnwplbn L uwptp a2 hwwn 30 5000 160,0
33161220|Cuyquitnby/thwynk a2 huin 50 1000 50,0
33111200] otipdwswihtp/ulnhlwihh 192 huwn 300 200 60,()E
33141160|{Unlngk| 1 |a2 hwwn 1100 120 132,}‘/]
33141112| Uwtinwbhbtp (wiwunhp)/Uwbunwyply/ G2 hwwn 5 2000 10,0|
33141110|“Yhpwywwtn 714 ny hwywbbiuduws a2 hwin 130 3500 45.‘),0‘:
33141110|Ydhpwywwtp 1016 ng hwlwbbugws Q2 hwin 200 3000 600._()7]
33141110|“hpwlwwtip 5710 ng hwlwbbuduwé ; Q.2 hwin 100 3000 300,\);‘
33141110| dppwlwwybn/Shwyuwljug 207300 HER hwtn 360 1000 3600
33141158| Yhpwpnidwlwl dtrlngltn N7 1.2 qnijg 120 3500 420,01
33141158 Yhpwpnidwlul ateGngltn N7.5 Q. qnig 120 5000 - 600,0!
33141158| Yhpwpnidwlyw dtrlngltp N8 192 qnijg 120 5000 600,0!
33141158| Yhpwpnidwlwl dkrlngltp N8.5 2, qnijg 120 1000 120,
33141121 |dhpwpnidwwl phitp- Plain Catgut 0 Q2 hwwn 300 600 180,
33141121 |Yhpwpnidwywl phitip- Plain Catgut 2 Q.2 huwiwn 300 180 54 (




33141121 |Yhpwpnidwluwb phitip- Plain Catgut 1 Q. hwuwn 300 600 180,0]
33141121 |Ydhpwpnidwlul phtip- Plain Catgut 2/0 Q. hwn 300 720 2’.6:',;&
33141121|\hpwpnidwlwl phitip-Plain Catgut 3/0 Q2 hwwn 300 720 216.0]
33141121 |dhpwpnidwlwl phitip-Plain Catgut 4/0 a2 hwin 300 240 72,0
33141121 |{dhpwpnidwlwb phitp Leyna 2/0 l Q. hwtn 220 240 528
33141121 |dhpwpnidwlwlb ptiap LaNa 3/0 a2 hwn 220 240 52 8|
33141121 |dhpwpnidwlwl phibp LG 4/0 G2 huwin 220 240 52,8
33141121 |dhpwpnidwlwlb phitp Mnjhwpnuhiih 0 a2 hwn 220 264 58 1
33141121 |Yhpwpnidwlywl phitp Mnjhypnuhitit 1 192 hwin 220 264 58,1
33141121 |IPPWRNLGWGWG pB(GN g pugpngh bl 2/0 laz hwtn 220 480 105,61
33141121 |dhpwpnidwyuib phitp Mnjhwpnugpth 3/0 -2, hwwn 220 600 132‘(;
33141121 |Yhpwpnidwlwb phitp Mnhypnuhth 4/0 Q2 hwin 220 300 66,0
33141121|dhpwpnidwlui phitn- Upy 1 Q2 hwtn 220 600 132,0|
33141121 |Yhpwpnidwlw phitp- Uhyy 2 Q. hwin 220 120 26 4!
33141121 | dhpWpniowywil ph(Gn- Uy O 92 |hwwn 220 840 184.8|
33141121 |Yhpwpnidwlywl phitp- Uhy 2/0 192 hwin 220 960 211,2
33141121 |Yhpwpnidwywl phitp- Uhy 3/0 Q. huwn 220 960 211.2)
JhpwihnnBph (npEGwdbEph) wwpwiqubbn 7T-ak |
33141182|nntliwd (nwénpwah a2 hwtn 5500 20 110,0|
dhpwihnntiph (npGGwdGEph) wwpuquibtip 7Mlpwg }
33141184|nptiliwdh thwlw/ <Gishsh Athwihnily Q2 hwtn 5000 20 100,0]
33141182|hpwihnntip (npGhwdbbn) /Bnph nptlhwdbbn laz huwun 3000 30 {)C_u’;
Jhpwihnnbp (npGhwdlen) Mpnduwith ]
33141182 |npGGwdttp/untiphy ez hwitn 1200 200 240,0/
OnpdwlnplEp 78ELinphdniguh thnpdwling ! i
33191310]wjwunhy 42 hwn 25 5000 125,0
OnpdwbnplEn 7 Julntdwhb wpwl plnh. pll. - ]
33191310|hwdwp/ Q2 hwtn 80 10800 8640
33191310] @npawlinplbn /]wyniiwnl /dawihe/ 92 |hwwn 100 6000 600,0]
UEuhqudju ogunugnpdilul phiup-tiphq
33141100|qpniyndtwnph Q.2 hwin 120 1000 120,0
33141410 |inwpw wawihgh hwdwp 1004; q.z hwiwn 80 2000 160,0“
33141212|Uwnihg njuy hkunuwnwgh hwdwp Q2 huwwn 10000 10 100,0
33141211 | @npliph wphbunwlwl pbswnnipjul ywuply Q2 hwn 12000 30 366:0,‘
33141211 | Ukpddng Jungniwljiikip 92 |huwn 1000 100 100,0|
32351230| rtiluingtl Gywnbbph dwwywytOotp 18X24 v hwin 150 2500 375.0
32351230| rtilwngtib Ohwpbtiph dwwuwytGtin 24X30 Q2 hwin 200 4000 800,0
32351230 rLlungtl hwnlbph dwwwGGGGR 30X40 Q2 hwun 300 5000 1500,0
32351230] rtilwingkl GYwnbbph dwwwytabep 13X18 Q. hwwn 100 500 50,0
32351230|4S nhingkh dwyyutit 35x43 a2z hwin 1200 400 480 0/
33141192 |®npp dbtnwnuljwl Gntiunpndighwtip | a< [hwn 171000 15 2665.0|
33141192 [Uhght dbunwnwljwl Ynuunpnighuwutip A< [hwwn 221000 2% 5625,0|
33141192 |Ubd dbnwnwlwl Ynuumpnihghwutip | 9< |[hww 271000 25 6'775,()]
33131130 Jhpwhwinmpjut wnwdtubph hinwguwh i .
wpguliibhp huup. Q.2 hwuwn 10000 16 160,01
33131130| Mhughwn/wpgus Q.2 hwwn 1000 20 20,0
33131350|9nlin Q2 |hun 1000 20 20,0]
33141212{9qunhyju a2 [hun 1000 20 ?o,_'(ﬂJ
33141212|Ujghtwwnught sunthuwlynip Q2 hwwn 2500 16 40,0|
33141118|Zwljwtikjudwl wudknnghl 2 huin 50 5400 2700
33141212 Gwpbjmiynip 9, |hwn 300 250 75,0]
33141212 9w hl unwgpus pudpuly G2 huin 417 360 150,1
33131440| Unwdtwpnidwljub Upuinwdshsh qihuply Q.2 hwin 25 3000 75,0
33131330|Uukin Q.2 huin 25 3000 75,0
33411520 Ytpuwdhluyh gidiun Q.2 hwwn 25000 12 300,0
33141212|Yuphwn Q.2 hwiin 1200 3 36
33141212|Ukljniuhs ghuktn Q2 hwin 4000 4 16,0|
33141212|Fnidhs | hgpwlynip Q2 hwwn 13500 3 40,5
33141212|Ukniuhs vhownhpltip Q.2 hwn 5000 3 15.0|
33141212|thunhl/dudwbiujundnp yndpwlynip 24 hwwn 2300 18 41 11




laz

33141212[Cwnh hwin 250 360 90,0
33141212|Uwwnphgu dknunuljub Q2 hwwn 50 60 3.})‘}
33141212|Uunnphgu puithwbighly Q2 huin 100 400 40,0
33141212| tbinpuilighnt phy 9z |[hun 4500 3 13,5]
33141212|(tnpulyghnb phy Q2 hun 4500 3 13,5]
33411220|Uhjhntik swihuwiynip Q.2 huin 28000 6 1680/
33411420 | Luuyu uhwinky/Juiwgnighsip N4 Q. hwn 625 144 90,0/
33131190 Lliwwnp qupdhplliph hwupwdnt (a2 huwn 7500 8 60 .jﬂ
33131440{Upw. juyli onippny Pnolijniyh dwyptuljuy 192 hwwn 15 3000 45,0
33411140| My nupwlynip 92 |hun 9200 72 662,4|
33141212 k$yn/Unnu Q2 hwn 1000 12 12,0}
33141157 | Lwligkan/np 92 |huwn 50 300 15,01
33141157 | Lwigkwn/ninhn Q2 hwwn 50 300 15.0
33411410[Eupndtanwqnl 92 |hwn 21000 18 378.0|
33131440/ dwiplip/uks Q2 hwn 16000 12 192,0|
33131370|pnp Ukipkliwlikip/pnptiph dwjpwljubip 1a2 huwwn 600 80 48,0
33131370|pnp Ukpkuwtip/pnpliph duwyjpuijuytip a2 huwwn 600 80 48,0
33131370|pnp Ubipkliwliip/pnpliph dSwjpwlwylp |92 huin 600 80 48,@i
33411400{dwhy(K) / wpuwntbipp dpwljtynt hwdwp Jaz. huin 250 48 12,0]
33411400) dwipy(K) / wpdunnblipp dow)line hwdwp Q2 hunn 250 48 12,0
33411400|dwh)(K) / wpdwnutipp dpwllne hunlwp Q2 hwn 250 24 6,0]
33411400| dwih(K) / wpdwwntbipp dpwljbint hwdwp 2, hwwn 250 18 4,5
33411400|dwip(K) / wpdwintubpp dpwljtint hwdwp Q.2 hwwn 250 18 14,5
33411400 dwip)(K) / wpdwwntbipp dpwljlint hwdwp 92 hwwn 250 6 15
33411400|Luingn / wipdwwnbpp Upwljint hwwp G2 hwwn 450 60 27,0
33411400| Lwingn / wpdwwblipp dpwllyne hwdwp Q2 hwwn 450 60 27,0]
33411400|Lwngn / wpdwwnbiipp dowljlijm hwithup Q7 hwwn 450 60 27.0]
33411400 |Lwngn / wpdwwntbipp dpwlijnt huilwup 192 hwwn 450 24 TOTES:
33411400|Lwingn / wpdwwntipp dpwjlijm hwwp Q2 hwwn 450 12 5,4;
33411400|Lwngn / wpdwwntlipp dow YLt hunlwp G2 hwin 450 12 b.-{i
33411420 Ly wuhnk)/Yutiunghsulip N25 Q2 hunn 625 120 75,(ﬂ
33411420 Lwyjw upwnk/Yulwn ghstilip N25 92 hwwn 625 240 150.(‘)‘!
33141212|Pnidhs iwlinhp (niuwghl fupdpugdundp Q.2 hwiwn 5000 6 30,01
33131440[Lwgnninlihly a2 |hww 14 7200 100,8]
33141212| Mnupwlynip/ dwdnighly -2, hwn 5250 48 25)?,1)‘1
33141212[thwy igdwt dwdnil 9z [hun 3000 12 36,0
33131140 [thw igdwh Junquiiuly Q.2 hwn 60 70 4.2
33141212|Mnuph Juyhnnylju Q2 hwin 300 120 36,0
33411340|%nipw thlpsw Q2 hwwn 20 1000 20,0
33411340|%nipw thhpsw S hwwn 20 1000 20.0!
33411340(Qnipw thhpyw a2 |[hun 20 1000 20,0!
33411340|9nipw thtipsw G2, hwwn 20 1000 20,0|
33411340|9nipw hlipsw laz Thun 20 1000 200!
33411340[Qnipw thtipsw laz huwn 20 1000 20,0|
33411350|Gnipw thipsw prpl wpuintinguid | G2 huin 15 1000 15,0
33411350|Qnipw thlipywpnpl wpunboqul 12 hwiwn 15 1000 15,04
33411350 (%nipw thtipsw prpl wpunbngud laz hwwn 15 1000 ".’:y/_j
33411350 |9nipw thkpsw prypl wpunlingud 192 hwwn 15 1000 15,0
33411350 ({9nipw thlpsw prpb wpuntingud 2. hwwn 15 1000 15,0
33411350 |9nipw thkpsw ppb wpunbingud 92 hwwn 15 1000 15,0,
33141212|Cuiphyju/pniowpninp N25 Q.2 hwin 20 500 10,0
33141212|8kdklnh pnunp Sy huwn 2000 30 60.0{
33411400|Eunnuwwnnnh duwij tip Q2 hwwn 1340 18 24,1|
33411400|EunnuUwinnnh $wykip Q.2 huin 1340 18 ?4“1‘;’
33411400 |Eunnuwinnnh iy tip Q2 hwwn 1340 18 24,11
33411400|Eunnuunnnnh $utp laz " Thum 1340 18 2411
33411400 |Eugnuuwinnnh by ip 192 hwn 1340 18 24,1
33411400 Eugnuwinnnh $wijlip a2 [humn 1340 18 24,1]
33141212]junnl Q.2 huin 2000 20 40,0/




33141212 pyyuinly] Ukl Q.2 hwn 1000 20 ?(—w
33411580 | Lwwtiksuhlubiph jnun/dSwypunhp az hwwn 2000 3 6.0
33131230| Uwnwdbwpnidwjwl huwylyhulip 92 hunn 1500 30 45 U;
33141179 |Pdywlywl hwywpwéniGtip wughngpwbhugh hwdwp ]
q:  |hwn 20000 700 140000/
33141184 Unpnuwp ninnnpnhs 0,6-0,7 q Q. hwn 35000 170 595,0"(3?
33141184 |UnpnGuwp Juykp hhnpndhy Q2 [huwn 31000 260 8060,0
33141184  [Upuwnnpnahs ninnnpnhs hhnpn$hy-0,018 j Q.2 |huwn 15000 90 1350,0
33141136 |Upinnpnphy uplinbipltip hwjwpusnm ‘ G2 [hun 14000 600 84()00'
33141136 |Ujuwninpnphy Yuplnbputp G2 |hwwn 8000 200 16()Ohl)|
33141136 |Upunnpnghs Yuplnbpitp 12 [hwwn 12000 80 960,()]
33141211  |20/30 wnwghwiht hinki$ywuwnnp thwpkip Gnyhinuny G2 |hun 14000 50 700,0|
33141211  |[hUntbjwwnnp (hwlwpwént) Q2 |[hwn 14000 350 4900,0]
33141211 hantdwinnp (hwywpwént) /20 &up./ | 92 hwuwn 9000 50 4!)0,()j
Uwptiinp TOutnpnghy GupEnENGERR huwpwdn |
33141136  [Ypluwlh hwplpny A2 [hwuwn 24500 20 490,0]
33141211  |9hd 60ud/150ud 42 |[huwn 700 220 154, ]
33141136  |[PGunpwnyniutip luinpu10uy 42  |huwn 9900 50 495 0 ‘
33141136 _|ruptukplbp/Quin Yuukintn . [humn 25000 350 5750,0)
33141136 |Ywphunbpubp/Ninnpyhs Yuntinntip 4. |hwun 25000 100 2500, l
33141136  |Ywpbintin /AOnpwnnuutin Swdwlywht(radialy 11 ud Q2 |huwn 10500 650 6825,0
33111310 whghnwwuwnhluyh Gnuptip/ntinuwwn unttu/ ¢ |hwwn 125000 200 250()(]“‘ /,
33111310 whghnwwuwnhbuih Gneptip/Rtinwwwn untm/ Q2 (huwn 111000 50 5550, fﬂ
33111310 | wlghnyiwunhluwih Gjneptip/ntinwugun untitin/ G2 |hwuwn 88000 40 3520, u,
33111310 whghnujlwunhlwih Gjnuptp/ninwwwn unbi/ Q2 |[hwuwn 90000 15 13‘)Oi(1’
33141137 | pwinlwjhG Ywptinbpbtp 2 |[hwwn 35000 150 5250,0]
33141137 Pw(nOwihl Ywpetintipltp pwpdp dupdwl Q.2 huwwn 35000 120 4?(1(,,:;
33141137 | pwinGwjhl Yuwpbintnltn 9> |huwn 33000 150 49500
33141137 pwnGwjhG Ywptintin(tp pupap cupwl Q> |hwwn 33000 200 6600.0*]‘
33141137 | pwinGuwjhG YupbintipGip a2 [hwwn 26000 60 1560,0]
33141137 | pwinGwjhG YupbintipGtin 42 [hwwn 26000 30 780,0]
33141211  |hwunwlh Sbonn Juy Q2 |Jhuwn 4800 80 384,0]
33141136  |Bpndpwuwhpughnt Juptntp Q.2 |hwwn 100000 200,0]
33141211 [dwdwbwlwynp Yupppnwunpdniwannph bliupng G2 |hwwn 10000 }vb‘\)i
Cunukip 2253216/
Stunbuwlw,uwbhhghtihy L [qwgph dhongltip, juwhnyp, uwppwynpnud |
dwppnn dwénifitp U thnhGEp/Mhwlusw G i
39812600 |hwuwpdbp Ul hwin 350 200 70,0
33711480 | oSwn, inGunbuwluwl /aknph/ Ut hwin 220 120 26,41
39221410 | wyty Ut hwin 1000 6 6,01
39221410 | wyk| gnquphwyh htin, wjwundwuwihg Ul hwwn 2900 20 58,0
39831210 uwwuph (Jwgiwl nkintpgtilntp Ut lhwp 350 400 140,0!
39831243 | |ywgph thnoh wynndwin Ul Ua 1000 650 650,0!
39224331 [0y wwundwat 12; UU | hwn 1000 5 5 O]
18421130 atnlngltip/ntiinhati/ Utk hwwn 300 100 *(‘
19641000 | wnihtphibOuht wwpy, wnph hwdwn Uy hwin 180 900 162.@
39831281 dwpnpnn Gjniptp Awwwyh dwpptine/ Ut hwwn 400 10 4,0
39221350 | dbjwlquidjw oguiwgnpéiwh pudwlbtip Ul hwin 9 4200 37,8
19641000  [wnihtphiEwht wwpy,wnph hwdwp 35; U hwtn 400 60 240
39835000 hwwnwy dwpntint dnn, wiwundwut, thwyjunjw U huwin 1500 20 30”‘\
39831283  |hwwnwlh (wgdwl jwre U hwn 800 10 8 _\1;
39221480 | QniGwinwilih funquiliwylitin Ul hwun 800 10 8.0_1
24311300 |pynp UL [jpunp 150 2100 316.0]
Cuguukup 1674,2 |
Qntlwlwh mhmnljpﬁbn h gpuwubibjwywih Gyniptp |
30197636 pntnp, A4 dnpdwnht /21x29.7/ UU  finnuh 1800 300 540,_(;}
pnpwwwhwlGtn, npintin pnplipp dhugdnid GG ‘
30197234 onwyatipny b pnph wdpwyatip/atis/ Uu  Jhwwn 800 13 10,4
30197230 prRWWWaWY UU Jhwn 300 25 7,51
30197230 pnRwwwlwy Ul [hun 100 15 1,5




30197230 pnRWWwhwy Uu  Jhun 450 6 27|
30197230 | prpwiuywtwl J uu Jhaen 300 36 10,8}
30197230 | prpwigwtul UU [hun 700 2 14]
30197230 RnRWWWaWY UlU  fhwwn 200 12 2,4
30197230 | pnpwuwowy UU  [hwn 150 6 0.9
30197230 | pnpwwywbwy UU  [han 400 3 1,2]
22851100 wpwagwywnbtp Uu  [hwn 80 104 8.\"“
30197231 PRRWWWaWY, wnihdtnwih0 punwip, S Uu  lhwin 10 5500 55.0
30197321 Yuiphsatin, 8hask 20 ptipph hwdwp I UU  |hwin 450 2 E—
30197321 Yuiphsbtip, Shasl 20 ptipph hwdwn I uu Thwn 550 2 1,7
30192114 | puiliwp, aunuwidwh, puipéhih | Uu Thun 200 10 2,0}
30192121 | qGnhywynp qphy UU  [hwn 80 350 28,0
30192125 dwpybpatip UU  hun 200 15 3.0,
30192125 dwpytipltp UlU  hwn 100 15 1 :)4’
30192130 dwunhuinltip UU  |hwwn 80 80 6,4
30192133 [ unhsliin UU [hun 150 5 0,8]
30192160 2unnhfultp UU  fhwwn 150 50 7,5
30192350 hwzqhz-nnwdwnunwmu dtptilwotph duiwwytlatip Ul |hwin 120 800 96,0
39263410 | wipuwy, dtunwnyw, dinpp UU_ Tonup 200 5 1,0]
39263410 wdpwy, dtwnwnjuw, thnpp UU  Jinnup 100 4 0,4
39263510 utindwy, thnpn UU  Jhwwn 15 24 0,4
39263520 utindwy, dhohl Ul Thwn 25 24 0,6
39263530 utndwy, dté UU  Jhwn 80 24 1,9
30192100 pENhG hwuwpwy Ul hwwn 150 20 3,0
30199230 opwinltip UU - fhun 20 450 9,0
30197111 Ywphsh dEnwnuwiwnt Yuwtip, thnpp UU  finnup 100 10 '1_\ )|
30197112 Yuwphsh dEnwnwwnt Yuwtn, dhohl Ul innunp 100 10 1,
39292510 | pwilnGltn UL [hwn 250 10 2.5]
wnhdGpwjhl haphwfwsni dwuywJth; 4806x 7006 K
30192210 |wnlwnbuwyw(, dté UU - fhwn 500 5 2,:;}
30192710 unuGawdwwnhun, gpuutjwluhG Ul Thwn 450 70 31 J
30193200 wiuwgpbph nwpwyatip Ul hwwn 3500 5 1 /j
30141200 hwywuwpp, gpuutjwluht Uu  hwwn 2500 5 12,5|
39241210 dynwin, gpwutbuluh( UU  Jhwwn 600 4 /'
30199400 unubdwywinyws Yui Gugnil pninp Ul [hwwn 300 10 3,0
30199400 unubdwwwinywé Ywd Yusnil pninp Uu  lhwwn 200 6 1.2
30199400 unubdwuwinyws Yuwd Yusnil pNLNpe Ul |hwwn 150 6 0,9
30199430 pnine GanudGlph, tipnguwltipny Uu  |hwwn 1000 3 3,0
30199430 pninp GanudGtph, npgwlttinny Uu  |hwwn 800 5 4,‘(31
30199430 | prunp Gnudtitnh, inngwiliGtnny Uu Jhun 250 10 25|
30197340 | wywlwphsGtn UU  [hwn 200 5 10
39263600 gnswunnuh, gpuiutibjuluhG AT Ul hwn 500 5 _?‘\
30197120 Unéquittin T uu nntth 250 10 ?_"'_f
30192111 pwlwph pwpdahyatip Ul hwwn 350 3 1 TJ
39221490 uwntlgltip Uu  [hwwn 150 5 0,8
30192700 ujuyjwpwlh uy UU Thwn 10 500 5.0
Cununlkip 903,85 |
Elbynpwlwh uvwppunjnpnudutip
31421200 | dwpwnlynglbiph nintth MF-2351, 7.4V, 2000mAH UU |hwn 6500 5 13,0|
31721100 [ynnutipltin /k|E4unpnuuwhl Ynnuwtiph Ynuw tpun Ut huwin 25000 4 100,01
31721100 [unnuiputin /E|EYunpnlwihl Ynnutph Yndutpn Ut hwn 50000 5 250,0]
363,0
{wiwlwpgsuwhl ul.unglul[nnnldﬁbn qmpmqulhhp,hhnulhlur npnwlgdwl vhengukp
30234400 nuwnwpy ujwywiewy, wewbg wnnihh, DVD Ut hwun 150 2000 300,0
30234300 | nwunwny uhwyuiewly, wewbg nnihh CO Ul hwwn 120 2500 300,0
Chnudkup 6000 |

ounu3nk@3NkLLEN



Ahqunwangujhl pwithnGOtph huJwpnid, thnfuwnpnid

90521320 | ngliswgnLd &2 hwn 9008000 1 9008.0|
79821170 nwwgpuywi b wewpdwl dwewjnipnilban G2 hwwn 2730000 1 27300
32411130 {wiwgubg Q2 Inpwy 1800000 1 1800,0
32411130 <wiiwgwlg G2 |npwd 1800000 1 18000
90511120 UtiGgunwihG wnph hwywpdwb swewnientabtip G2 Inpwy 2260000 1 2260,0
79521100 Nwwnsbawhwbdwh swewnipnLtltip U Inpwd 400000 1 400,0
npwd
79211210 huwpquwwhwywl Ytpwhuynnnipjub swewnipiniabtin Uu 900000 1 900,0
SwpnUujpt rEuntpulERh Guiewdwndwb npwd i
79411140 fjunphpnwnywul swiewnipinLiltn Ul 480000 1 480,0
65311100 FlEyunpwlwbnipjwb pwpfunid Ut Inpwd 48000000 i 48000,0
65211100 Qugh pwpfuntd Ul npwd 9500000 1 9500,0
65111100 tudtiint 9ph pwfuniy UU  [npwd 7450000 1 7450,0
64211120 Uhgpuwnwpwjh( htinwfunuwh Swpwynipntbbtip UuU  [npwd 1100000 1 1100,0
32411130 {wiwgulg Ul |npwd 120000 1 120,0
i s
i "
50531150 Ququiht uwnpbiph Wwhuweiws swepwnipnbep — § - UU npwd 131500 1 131,5]
e
90921300 UrGtinGtph ntd wwjpuiph Swewnipnibbtip Ul [npwd 360000 1 360,'.{
90511120 YkhgwnwihG wnph hwywpdwl SwnwynigntbObip Ul |npwd 720000 1 720,0
Nunhfubneut swewnipntabtin /Bopwaniptinh
75241100 |wikGoniu wwhwwinipini0/ y_[wnwd S 1 360.0
75241200 Nuinhlwbnipjwlb swrwjnipnLbtin Uu  [npwd 7440000 1 7440,0
Pdr 4wyl (wpnpunnphw@tph Ynndhg duwnnigynn ' |
Swewntpnta0/Mwpnngnwbwnndhwyw fpwa
85141240 |wpwpwwnnphw U 14700000 1 14700,0
Uwpptph unnigiwl swewnienibotp/Nttqt uwnp. - g 1
71631110 |intju, unnignud L nnguswith. O L 237000 237,0]
Pdrywywb jwpnpwwnnphwbbph Ynndhg duinnigynn npwy
SwrwjnipntG0/UhgpnidhhdGunplujhl Sweuynipntl
85141240 Utk 6975000 1 6975,0
ZuGhg-npudwnlnuwhG dtpthwttph ntuthfuub nnwa
50311300 uywuwnpynLd uth 86400 1 36,4
npwa 230000
programming services of systems and user software [
|hwdwlwngtiph b oguwignpannh dpwgntiph dowljdwle |
72211100 Swrwinipntatp/<0-h uwjuuwpynid ' uu 1 230,0]
‘ Apwa 9930000 i
I |
programming services of systems and user software ‘
|hwdwywpgtiph W oguwgnponnh spwgntiph twiliwil
SwrwynipntGOEp/tEYnpnawha wrnnowwwhwywb |
72211100 hwiwlwnagh uwjuuwpynid-Undtin L8 Uu 1 993(-“‘}
UndGpnpEnh hGw Guwquwd dhelnpnnipejwl Ty
66131100 Swnwynipntabtip U (nnwd 170454 1 170 5
MumnEGGwhwann uwnpbph JEpwlnpngdwl 323000 )
50311240 SwowjnipnLaatp Uu |nnwd 1 323.0
50421100 Pdolwlwl wwpptiph Yipwlnpngiwb b wwhujwbdwh UU |npwd 980000 1 Lo
Swnwnipinttibin Y
TwndhstBnny thafutnpwdhengGinh wywhndwgpdwl W 118000
66511180 Swnwnipntabtp Uu 1 118,0
npwy 1
50111130 Ugwnndtiptwatph yepwnpngiub Swrwjnipnibitn Uu 900000 900.0
whqunnnepp Jepwinpngqawl Swnuwnipniltn, Ghpwnjuw Anwd &
50111300 gnGunwdnid b hwywuwpuwlendd U 80000 1 80,0
W innuGREGWOERR inBfulhGulwh unnigiwl s
71631120 |Swewnipi 66t g uu 26000 1 26,0
pEpeERNLY hujnwpwpnienttGliph mujugndwb | nnwd =
92421100 Swrwjnipjntl ‘ ouu 293000 1 2930}
U nwGanipjul intuw[ughfaEnph uiuuwnfned/ UOU- Anwid |
35121320 |SOS/ UL 180000 ! 180,0|
thnutnwpG dwewnientGahp Gugwd Gwdwltph W ‘
64111200 htiwn Ul 69000 1 69,0)
79111200 GbplywjwgnLgswywl swewnienibltn Uu |npwd 470000 1 470,0
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